PR Received dated 17 OCT 2016 - 23 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 25 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11609459 | 18-Oct-2016 | CONZZ05916 |BUFFER SOLUTION PH4 R#33543 1.00| Bottle MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 31-Oct-2016
2 11609460 | 18-Oct-2016 | CONZZ05917 |BUFFER SOLUTION PH7 R#33546 1.00| Bottle MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 31-Oct-2016
3 11609461 | 18-Oct-2016 | CONZZ05918 |BUFFER SOLUTION PH10 R#33549 1.00| Bottle MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 31-Oct-2016
4 11609451 | 18-Oct-2016 STA1004248 |HP COLOR LASERJET CARTRIDGE 7.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 31-Oct-2016
5 11609426 | 18-Oct-2016 STA2001106 |DISPOSABLE SYRINGE mna 1 ML 200.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 31-Oct-2016
6 11608942 | 17-Oct-2016 | CONZZz29723 |PREFLEX BACK-UP ROLL COMPLETE SET DWG 532458 4.00|  Sset THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Oct-2016
7 11609012 | 18-Oct-2016 | CONZzZ30016 ﬁE@EES;DlIZ'\E 1M7ALE 10-1.0/SAE45-FLARE MALE 1/2-20 (AEROQUIP) FOR 20.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Oct-2016
8 11609534 | 20-Oct-2016 CONAZ30074 Q;'EE égéooégfgé'sgigﬁgilo':,IE;SSADIAL M789/R157/LM isuaniaifinasainia 20.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
9 11608643 | 17-Oct-2016 | CONZZz18379 |WIRE ROPE SLINGS WITH SOFE EYE DIA.12x4000 mm. 6.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
10 11609529 | 20-Oct-2016 | CONZZz18703 |LIQUID OXYGEN IND BULK 8,096.00 nﬁg?rlgs JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
11 11609562 | 20-Oct-2016 | CONZZz20075 \(’\és(’)'l_ZOPLJ%LTZSRTEE;N\)NEBBING SLING 2 TON (WLL 2T) LENGTH = 2 M. 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
12 11607728 | 21-Oct-2016 | CONzZz29379 |TIRE 600-9/4.00 SOLID (REAR) 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
13 11607728 | 21-Oct-2016 | CONZZz29380 |[TIRE 700-12/5.00 SOLID (FRONT) 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
14 11609584 | 20-Oct-2016 | CONZZ29413 \(’\é%'LZOTJ%LTZSRTEEYP; WEBBING SLING 4 TON (WLL 4T) LENGTH = 4 M. 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 31-Oct-2016
15 11609598 | 22-Oct-2016 | CONAZ00004 |KEROSENE OIL(BLUE)  thifufa 100.00|  Pip CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
16 11609350 | 17-Oct-2016 | CONZZ06030 [PAINT BRUSH 2" 17.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
17 11609351 | 17-Oct-2016 | CONZZ06031 |PAINT BRUSH 2 1/2" 30.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
18 11609352 | 17-Oct-2016 | CONZZ06032 |PAINT BRUSH 4" 21.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
19 11609346 | 17-Oct-2016 | CONZZ06422 |CUTOFF WHEELS TYPE 41 SPEC A 30 P SIZE 400x3x25.4 mm. "SSM" 9.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
20 11609075 | 17-Oct-2016 | CONZZ06433 |ENAMEL PAINT GRAY BENTON#314/NATIONAL#504 (3.500 LT.) 1.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
21 11609353 | 17-Oct-2016 | CONZZ06498 |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.2.6 LD52 120.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
22 11609490 | 18-Oct-2016 | CONZZ06499 |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.3.2 MM LD52 50.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
23 11609354 | 17-Oct-2016 | CONZZ06501 |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.4 MM LD52 60.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
24 11609491 | 18-Oct-2016 | CONZZ06505 |WELDING ELECTRODE DIA.2.6AWSE 308 L-16"GEMINI" 50.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
25 11609462 | 18-Oct-2016 | CONZZ08594 |CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 180x2x22 MM. "SSM" 100.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
26 11609371 | 17-Oct-2016 | CONZZ11794 |TINNER AAA (12 LT) 100.00| Pail CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
27 11609565 | 20-Oct-2016 | CONZZ12457 |GREASE & CHEMICAL PROTECTIVE CLOTHING "MICROGARD 1500 PLUS" 300.00|  Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
28 11609531 | 20-Oct-2016 | CONZZ13923 |LOCTITE 495 50.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
29 11609563 | 20-Oct-2016 | CONZZ14681 |LOCTITE 263 ( 50 ml. ) 10.00[ Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
30 11609502 | 20-Oct-2016 | CONZZ14695 |GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 180x6x22 MM "SSM" 225.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
31 11609055 | 17-Oct-2016 | CONzZz24227 |FREON F11 6.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
32 11609465 | 18-Oct-2016 | CONZZ28627 |WELDING ELECTRODE"GEMINI"DIA.3.2 AWSE309LMO-16 40.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016

Page 1 of 5




PR Received dated 17 OCT 2016 - 23 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 25 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11609387 17-Oct-2016 CONZZ31242 astanufandn e wun 3 uu. a1 10.5 @i, AT 5 2w, enadn # 12 40.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
34 11609388 17-Oct-2016 CONZzZ31243 |nszamuffanla 2une wun 2.0 ww. 817 10.5 2w, a9 5 2. 80.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
35 11609505 22-0ct-2016 CONZZ31966 sarvnauuuduau was 120 auna 25x25x6 MM.(1"x1"x6 MM.) (10 gn/axav) 1.00 box CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
36 11609480 20-Oct-2016 STA2000028 REFILL DRY CHEMICAL 15 LB 10.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
37 11609480 20-Oct-2016 STA2000030 REFILL CO2 GAS 5 LB 3.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
38 11609428 18-0Oct-2016 STA3000375 gwwnszidag 10.00 Bag CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
39 11609317 17-Oct-2016 STA4006516 widavuaidadmsudetntainge ANUQIRE 2 An. 6.00 Bag CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
40 11609307 17-Oct-2016 STA4006757 |DRAGA EPOXY Il (asdn &wand 1) (4KG./CAN) 8.00| Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 31-Oct-2016
41 11609550 20-Oct-2016 CONZZz02678 LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 20.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
42 11609059 17-Oct-2016 CONZz02725 INSULATED TERMINAL FULLY PV 2 -7A(W)FEMALE BLADE 50.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
43 11609059 17-Oct-2016 CONZz08158 INSULATED TERMINAL FULLY PV1.25-7A(W)FEMALE BLADE 50.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
44 11609519 20-Oct-2016 CONZZz08602 CABLE SIZE 3x2.5 SQMM. TYPE VCT 100.00| Metres SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
45 11609568 20-Oct-2016 CONZZ08999 EEII_RA:A?\I(T)'SCEO?‘FXE'CI’UZZO;I ?“?21913 203-3NU 250 25D (5m) (364052 P2) 10.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
46 11609373 17-Oct-2016 CONZZ10626 BATTERY 12V 7.0AH DIA.65x151x97.5 MM 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
47 11609567 20-Oct-2016 CONZZ10626 BATTERY 12V 7.0AH DIA.65x151x97.5 MM 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
48 11609232 17-Oct-2016 CONZZ10997 ;%JS_F;AOIL ENGING (CORNER-15600-41010) P/N.1502-20 FOR FORKLIFT 2.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
9 | 11609566 | 20002016 | Conzziiszo |IHERMOSTAT (ROTARY) TYPEA10-6580.057,9233 13 (ORMUA T 5o Gacn |  SAKHAN, MISSPHONNAPAT | BsP | phonnapatsa@ssisteslcom | INCOMPLETE |  31-0ct-201s
50 11609564 20-Oct-2016 CONZZ13264 |CABLE TIE CT-250-4 LONG = 250 MM. ( 10") 300.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
51 11609045 17-Oct-2016 CONZZ14122 |uwofhduuudeu (10 %as) (ORIGINAL 15 %as) FOR FANTUZZI 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-0Oct-2016
52 11609410 18-Oct-2016 CONZZ14936 LAMP 24V 25/10W 50.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
53 11609229 17-Oct-2016 CONZZ15469 OIL TEMPERATURE TRANSMISSION P/N 2516008 FOR FANTUZZI 2.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
54 11609369 17-Oct-2016 CONZZ16682 CLAMP HOSE 9/16""-1 1/16"" P/N 5D1026 (STAINLESS) FOR FANTUZZI 5.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
55 11609013 18-0Oct-2016 CONZZ20983 BATTERY SWITCH 24V FOR FANTUZZI 3.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
56 11609378 18-0Oct-2016 CONZZ24756 CONTACT CLEANER FOR ELEC."KLEEN-CON"B36 6.00 Can SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
57 11609561 20-Oct-2016 CONZZ25426 FILTER DRIER TYPE(FLARE) ADK/EK165 5/8"ODF (10TON) 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
58 11609403 20-Oct-2016 CONZZ26362 REFRI GERANT R-407C 50.00( Kilograms SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
59 11609560 20-Oct-2016 CONZZz28539 JOBBER DRILLS (HSS) DIN 338 DIA.4x75 MM TYPE N 15.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
60 11609365 17-Oct-2016 CONZZz28541 JOBBER DRILLS (HSS) DIN 338DIA.6x93 MM TYPE N 14.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
61 11609148 17-Oct-2016 CONZZ29045 ULTRA FILTER ELEMENT P/N MF07/30 (DONALDSON 121556) 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
62 11609147 17-Oct-2016 CONZZz29046 ULTRA FILTER ELEMENT P/N PE07/30 (DONALDSON120056-25) 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
63 11609146 17-Oct-2016 CONZzZz29047 ULTRA FILTER ELEMENT P/N PE07/25 (DONALDSON 120048-25) 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
64 11609150 17-Oct-2016 CONZZz29095 fiwdunuawas EPICON FINISH RAL 5015 TOA 10.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016

Page 2 of 5




PR Received dated 17 OCT 2016 - 23 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 25 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11609343 18-0Oct-2016 STA1004296 ['é';%slgif:@'\';g‘é‘g IIE'IIENI;IENRGPERF;ZF;II;g,gggi?figggj—'?g;ﬂs; igi';';jggm 2.00| Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
66 11609294 22-Oct-2016 STA4000980  |LAND CARD 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
67 11609537 22-Oct-2016 STA4006654  |anudaman 12 wdsy aurauau 1/2 NO.14 (KOKEN) 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
68 11609319 18-Oct-2016 STA9999999  [nsavisfuiA3as 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
69 11609319 18-Oct-2016 STA9999999  |AIR DRYER DR-31 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
70 11609319 18-Oct-2016 STA9999999  |EMERGENCY PART 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
71 11609319 18-0Oct-2016 STA9999999  |EMERGENCY PART 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-0Oct-2016
72 11609417 18-0Oct-2016 STA9999999  |wavuisvaulaaeisn 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-0Oct-2016
73 11609477 18-0Oct-2016 STA9999999 |aelaesaded 2 Hu 2uie 1/2 x 74 ai. 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Oct-2016
74 11609470 18-Oct-2016 CONAZ00003 [COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fu (25 KGS./BAG) 525.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
75 11609499 20-Oct-2016 CONZZz05925 OXYGEN PURITY 99.5% (dosiasi Ju,ifau,il vesau afogavina ‘Lidu 5 1) 59.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
76 11609372 17-Oct-2016 CONZZ10612 |NITROGEN GAS (N2) (dusasfi Ju,uflau, i wesau efosavie laidu 5 1) 4.00( CYLINDER PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
77 11609471 18-0Oct-2016 CONZZ30514 [Linnedau (ad1euun) 14.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
78 11609384 17-Oct-2016 CONZZ30516 [lianeanmauswin  Aruendealaile 12.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
79 11609586 20-Oct-2016 CONZZ30639 |[gqoaumz auim 18"X20" &sin 20.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
80 11609342 17-Oct-2016 STA1000486  |1hnniindu 200.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
81 11609342 17-Oct-2016 STA1000489 |dusa HB fva a5 60.00[ Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
82 11609342 17-Oct-2016 STA1000491  |thanadien 30.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
83 11609342 17-Oct-2016 STA1000492  |1thnniaditindu 60.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
84 11609342 17-Oct-2016 STA1000495  [1thanlviuasa &iwdu 60.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
85 11609342 17-Oct-2016 STA1000496 |thanliviuasa &ume 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
86 11609342 17-Oct-2016 STA1000497 |sumiUndau 40 wkiu 60.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
87 11609342 17-Oct-2016 STA1000499 |auatieyZiauidn SIZE:21"x33" 60.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
88 11609344 17-Oct-2016 STA1000500 |&famwnid  No.600 60.00[ Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
89 11609344 17-Oct-2016 STA1000501  [|inilzuuilznaas 12.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
90 11609344 17-Oct-2016 STA1000503  |ululasady 100.00|  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
91 11609389 17-Oct-2016 STA1000507  |Aszanw 300.00f Ream PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
92 11609335 17-Oct-2016 STA1000509 [nszanmsalilas 9"x11"(NOCOPY) 12.00|  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
93 11609335 17-Oct-2016 STA1000510 [nszanmsalilas 9"x11"(3 COPY) 12.00| box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
94 11609335 17-Oct-2016 STA1000511  [nszenmeaiiias 15"x11"(NOCOPY) 12.00| box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
95 11609335 17-Oct-2016 STA1000512 [nszanmsaiilas 9"x11"(2COPY) 12.00| box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
96 11609342 17-Oct-2016 STA1000524  |afaoiiau 1,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016

Page 3 of 5




PR Received dated 17 OCT 2016 - 23 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 25 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11609342 17-Oct-2016 STA1000527  |1hanhviuase &en 30.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
98 11609342 17-Oct-2016 STA1000528 |avauduxa 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
99 11609342 17-Oct-2016 STA1000529  [thenaudifia 30.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
100 11609344 17-Oct-2016 STA1000538  [mie 2" Rume 24.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
101 11609344 17-Oct-2016 STA1000539  [wisn 2" &6 30.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
102 11609344 17-Oct-2016 STA1000543  [wwh 1.5" &idu 24.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
103 11609344 17-Oct-2016 STA1000545  [DOULBLE CLIP No.112 60.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
104 11609344 17-Oct-2016 STA1000548  |A1uviv 24.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
105 11609335 17-Oct-2016 STA1000848  |RIBBON FOR PRINTER DATAPRODUCT 8524+/8524 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
106 11609344 17-Oct-2016 STA2000393  |aszamnAnd 2" 24.00| Roll PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
107 11609276 | 17-Oct-2016 STA4006741 ?g;;éﬁﬁgiiaﬁ? 85'“&;'19000 ADHESIVE LATEX PREMIUM GRADE NON 12.00| Can PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
108 11609615 22-0ct-2016 STA8888888 |faiseneivnadasns fu VERTEX 151 15.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Oct-2016
109 11609501 20-Oct-2016 CONAZ06792 i(c)g gEéi\leEEA$ A?\IT?INLESS M12-1.75x120 mm. (END THREAD 30 MM) FOR 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
110 11508919 17-Oct-2016 CONAZ08097 |SOCKET HEAD CAP SCREW  M10-1.5x80 mm.(STAINLESS) 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
111 11609347 17-Oct-2016 CONZZ06733  |FLAT HEAD HEX.SOCKET =~ M10-1.5x30 mm.#FULL THREAD 60.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
112 11609348 17-Oct-2016 CONZZ06734  |FLAT HEAD HEX.SOCKET =~ M10-1.5x40 mm. 25.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
113 11609597 22-0Oct-2016 CONZZ06769 |BOLT&NUT HEX.HEAD M8-1.25x20 mm.#CLASS 8.8 100.00[  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
114 11609599 22-0ct-2016 CONZZ06792 |BOLT HEX.HEAD (CLASS 8.8) M12-1.75x120 mm. FOR WET SECTION 70.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
115 11609310 17-Oct-2016 CONZZ06971 |ELBOW 90 DEG.PVC 1/2" (SOCKET/SOCKET) 10.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
116 11609551 20-Oct-2016 CONZZ07263  |U-BOLT WITH NUT DIA.2" (GALV.) 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
117 11609074 17-Oct-2016 CONZZ08088 |SOCKET HEAD CAP SCREW  M8-1.25x60 mm. 70.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
118 11609071 18-Oct-2016 CONZZ08131 |SOCKET HEAD CAP SCREW  M20-2.5x100 mm. CLASS 8.8 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
119 11609349 17-Oct-2016 CONZZ08421 |EXPANSION BOLT (ANCHORS) M6x47 mm.(M8040) 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
120 11609306 17-Oct-2016 CONZzZ08587 |H-BEAM(STEEL)JIS G3192 DIM.150x150x7x10x11 mm 6=Mtr 3.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
121 11608830 18-Oct-2016 CONZZ08717  |NUT HEX.HEAD (CLASS 8.8) M36-P.=4 110.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
122 11609310 17-Oct-2016 CONZzZ11872  |PIPE PVC 1/2"x4 mt. 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
123 11609310 17-Oct-2016 CONZZ13061 |PIPE PVC 3/4"x4 mt. 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
124 11609310 17-Oct-2016 CONZZ13484 |ELBOW 90 DEG. PVC.3/4" (SOCKET/SOCKET) 10.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
125 11609310 17-Oct-2016 CONZZ13799 |STRAIGHT CONNECTOR PVC DIA.1/2"(SOCKET/SOCKET) 10.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
126 11609310 17-Oct-2016 CONZZ13941 |T-WAY PVC 3/4" 10.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
127 11609370 17-Oct-2016 CONZZ14574  |BOLT&NUT HEX.HEAD M4-0.7x20 mm. 50.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
128 11609310 17-Oct-2016 CONZZ14999 |CYLINDRICAL LOCK (andieilseq) 4.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016

Page 4 of 5




PR Received dated 17 OCT 2016 - 23 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 25 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
129 11609310 17-Oct-2016 CONZZ15343 |T-WAY PVC 1/2" (SOCKET/SOCKET) 10.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
130 11608645 17-Oct-2016 CONZZ17414 |O-RING 7]0204 ID. 7.7x1.6 FOR KRESS 6.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
131 11608646 17-Oct-2016 CONZZ17430 |O-RING 4]5477 ID. 7.6x1.8 FOR KRESS 3.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
132 11609118 18-Oct-2016 CONZZ17833 |STUD BOLT (MAT.STAINLESS) M16-2x150 (20-20-110) 40.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
133 11609497 20-Oct-2016 CONZZ18223 |GRINDING WHEEL TYPE 7 FOR G1-4 DIA.915x152x508 mm. 5.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
134 11609497 20-Oct-2016 CONZZ18225 |GRINDING WHEEL TYPE 1 SPECIAL G5-6 DIA.915x152x304.8 mm. 1.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
135 | 11609368 | 17-0ct-2016 | CONzz1g4gz [>PCEl HEA2 BER SCREW #12:9 H20-2.5x50 MM DRILL HEAD 3 MM FOR 48.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
136 11609367 17-Oct-2016 CONZZ21627  |EXPANSION BOLT M8x65 MM 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
137 11609430 18-Oct-2016 CONZZz22831 [STEEL PLATE SS400 DIM 1200x2400x15 mm 4.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
138 11609466 18-Oct-2016 CONZzZz23821 |BOLT P/N 8H-5772 (1"x 8G L=3 3/4") FOR KRESS 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
139 11609318 17-Oct-2016 CONZZz25022 [CARBON STEEL PIPE #SEAM DIA 1/2" SCH80 x L 6 Mtr 10.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
140 11608926 17-Oct-2016 CONZZz28551 |JOBBER DRILLS (HSS) DIN338 DIA.8.5x117 MM 10.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
141 11609380 20-Oct-2016 CONZZ28906 |GASKET (EPDM-PTFE) SIZE. 3" 7.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
142 11609379 20-Oct-2016 CONZZ28908 |GASKET (EPDM-PTFE) SIZE. 4" 6.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
143 11609497 20-Oct-2016 CONZZ29192 |GRINDING WHEEL TYPE 1 FOR G5-6 DIA.915x152x304.8 mm. 2.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
144 11609583 20-Oct-2016 CONZZ29205 2;:2$ (I)'\;SFiRl\ITTb(;;T NUT M10-1.25 (P/N.2900.080.0008) FOR PROPELLER 10.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
145 11609467 18-Oct-2016 CONZZ30101 |U-BOLT REAR (funsnuay) &1 (LOCO) 22x152x17" FOR TRAILER#1-10 16.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
146 11609161 18-Oct-2016 CONZZ30489 |COMPRESSION COIL SPRING TYPE S-P-2.5-22.0-70.0 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
147 11609383 17-Oct-2016 CONZZ30500 [BOLT HEX.HEAD M20-2.5x60 mm.+SPRING WASHER+NUT (HOT DIP GALV.) 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
148 11609162 17-Oct-2016 CONZZ30544 |BOLT HEX.HEAD (HOT DIP.GALV) M12-1.75x40 MM. 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
149 11609267 17-Oct-2016 CONZZ30965 ?Sﬁ;;‘;i‘%ﬁ%% NUT NYLON INSERT M16-1.5x50 MM. CLASS 12.9 (END 40.00(  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
150 11609168 18-Oct-2016 CONZZ31373 |SOCKET SET SCREW M10-1.5x10 mm. CLASS 8.8 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
151 11609169 17-Oct-2016 CONZZz31413 Q'V'VRCEQDMPDIDPEJOéggg'\IID';TSlAgSI/ASME B1.20.1 MAT:SUS304 SCH.80#SEAM 5.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-0Oct-2016
152 11609316 17-Oct-2016 CONZZ31976 gléT;O(l\llD:RETARg(;zg\;le\;ls—l.25x16 mm. (CLASS 12.9) FOR STRAPPING M/C 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
153 11609311 17-Oct-2016 STA3000008 |anaenewsauidain 10.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016
154 11609311 17-Oct-2016 STA4006771 dfuaainad e 1/2" (tn&euanife 2 ) 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 31-Oct-2016

Page 5 of 5




